BID RESULT FOR PUBLIC BID RM-110243

HENDERSON SNOW PLOW PARTS

ITEM	QUAN.	UNIT		UNIT	TOTAL
		OF	DESCRIPTION	PRICE	DOLLAR
		MEAS.			AMOUNT
		11121101			
			TRIPLOCK, TOP, MANUFACTURER		
			HENDERSON PART # 122368		
1.	2	EACH	TP INV.# 132722	\$395.00	\$790.00
1.	2	LACII		\$373.00	\$790.00
			SPRING,TRIP MANUFACTURER HENDERSON PLOW PART # 122208 TP		
_			INV.# 132723		
2.	2	EACH	OR AN APPROVED EQUIVALENT	\$253.00	\$506.00
			BOLT-J, MANUFACTURER HENDERSON		
			PLOW PART # 122375 TP INV.# 132724		
3.	10	EACH	OR AN APPROVED EQUIVALENT	\$14.50	\$145.00
	10	2	LOCK-TRIP, LOWER MANUFACTURER	<i>\</i>	÷110100
			HENDERSON PLOW PART # 122369		
			TP INV.# 132725		
4.	4	EACH	OR AN APPROVED EQUIVALENT	\$162.00	\$648.00
4.	4	ЕАСП	PIN-PLOW, 1" X 6" MANUFACTURER	\$102.00	φ0 4 0.00
			HENDERSON PLOW PART # 81872		
~	50	E A CIT	TP INV.# 132726	\$7.25	¢2.52.50
5.	50	EACH	OR AN APPROVED EQUIVALENT	\$7.25	\$362.50
			ARM-LIFT, INNER, MANUFACTURER		
			HENDERSON PLOW PART # 123630		
6.	10	EACH	TP INV.# 132727	\$194.00	\$1,940.00
			OR AN APPROVED EQUIVALENT ARM-LIFT, REAR, MANUFACTURER		. ,
			HENDERSON PLOW PART # 123625		
7	10	EACH	TP INV.# 132728	¢ 407.00	¢4.070.00
7.	10	EACH	OR AN APPROVED EQUIVALENT	\$497.00	\$4,970.00
			PIN, 1.25 X, 5 MANUFACTURER		
			HENDERSON PLOW PART # 81556		
8.	50	EACH	TP INV.# 132729	\$13.50	\$675.00
			OR AN APPROVED EQUIVALENT MOLDBOARD, J TYPE11'		
			MOLDBOARD, J TYPETT MANUFACTURER HENDERSON PLOW		
			PART # 122361		
6		F 4 C C	TP INV.# 132730	#2 2 00 00	
9.	3	EACH	OR AN APPROVED EQUIVALENT	\$3,390.00	\$10,170.00

ITEM	QUAN.	UNIT		UNIT	TOTAL
11 LIVI	20110	OF	DESCRIPTION	PRICE	DOLLAR
		MEAS.	DESCRIPTION	TRICL	AMOUNT
		MLAS.	CYLINDER-LIFT, MANUFACTURER		ANIOUNI
			HENDERSON PLOW PART # 81865		
10	10	T (CT	TP INV.# 132732	**	
10.	10	EACH	OR AN APPROVED EQUIVALENT	\$295.00	\$2,950.00
			CIRCLE- SEMI, MANUFACTURER		
			HENDERSON PLOW PART # 122220		
11.	6	EACH	TP INV.# 132733	\$1,945.00	\$11,670.00
11.	0	ЕАСП	OR AN APPROVED EQUIVALENT	\$1,945.00	\$11,070.00
			PIN-PLOW,1.00 X 4.62,		
			MANUFACTURER HENDERSON PLOW		
			PART # 81870		
12.	10	EACH	TP INV.# 132734	\$10.00	\$100.00
12.	10	LACII		ψ10.00	\$100.00
			PIN-PLOW,1" X 3.25", MANUFACTURER HENDERSON PLOW PART # 81875		
			TP INV.# 132735		
			OR AN APPROVED EQUIVALENT		
13.	10	EACH		\$10.00	\$100.00
			PIN- PLOW, 1.25 X 4" X 9",		
			MANUFACTURER HENDERSON PLOW		
			PART # 81873		
14.	16	EACH	TP INV.# 132736	\$19.00	\$304.00
14.	10	LACII	OR AN APPROVED EQUIVALENT	\$19.00	\$304.00
			PIN- PLOW, 1.25 X 4" MANUFACTURER		
			HENDERSON PLOW PART # 81874 TP INV.# 132737		
			OR AN APPROVED EQUIVALENT		
15.	20	EACH	OK AN AFFROVED EQUIVALENT	\$10.00	\$200.00
			FRAME-A, MANUFACTURER	1	
			HENDERSON PLOW PART # 122241		
16.	10	EACH	TP INV.# 132739	\$1,111.00	\$11,110.00
10.	10	LACII	OR AN APPROVED EQUIVALENT	φ1,111.00	φ11,110.00
			PIN, 1.75 X 6.75, MANUFACTURER		
			HENDERSON PLOW PART # 81876		
17.	5	EACH	TP INV.# 132740	\$38.00	\$190.00
					, _,
			HITCH-PLOW, MANUFACTURER		
			HENDERSON PLOW PART # 123241 TP INV.# 132741		
18.	5	EACH	OR AN APPROVED EQUIVALENT	\$639.00	\$3,195.00
I					

ITEM	QUAN.	UNIT		UNIT	TOTAL
	20110	OF	DESCRIPTION	PRICE	DOLLAR
		MEAS.			AMOUNT
			CASTER-JACK MANUFACTURER		
			HENDERSON PLOW PART # 83288		
19.	50	EACH	TP INV.# 132742	\$921.00	\$46,050.00
17.	50	Laten	OR AN APPROVED EQUIVALENT	φ)21.00	φ+0,050.00
			HUB-SPINNER, MANUFACTURER HENDERSON PLOW PART # 123495		
•	_	T L CIT	TP INV.# 132744		+
20.	5	EACH	OR AN APPROVED EQUIVALENT	\$116.00	\$580.00
			DISC-SPINNER MANUFACTURER		
			HENDERSON PLOW PART # 75452		
21.	60	EACH	TP INV.# 132745	\$89.00	\$5,340.00
			OR AN APPROVED EQUIVALENT MOTOR-SPINNER, MANUFACTURER		
			HENDERSON PLOW PART # 122838		
22.	10	EACH	TP INV.# 132746	\$277.00	\$2,770.00
22.	10	LACH	OR AN APPROVED EQUIVALENT	\$277.00	\$2,770.00
			ROD- HANGER, MANUFACTURER		
			HENDERSON PLOW PART # 86324 TP INV.# 132747		
23.	20	EACH	OR AN APPROVED EQUIVALENT	\$32.00	\$640.00
			FRAME- SPINNER MANUFACTURER		
			HENDERSON PLOW PART # 122841		
24.	20	EACH	TP INV.# 132748	\$450.00	\$9,000.00
			OR AN APPROVED EQUIVALENT		1
			SCREW, THUMB,HANGER ROD, MANUFACTURER		
25			HENDERSON PLOW PART # 74452	¢2.25	Ф <i>ЕС</i> О <i>Е</i>
25.	25	EACH	TP INV.# 132749	\$2.25	\$56.25
	25	EACH	OR AN APPROVED EQUIVALENT		
			COLLAR, SHAFT, HANGER ROD,		
			MANUFACTURER HENDERSON PLOW PART # 74451		
			TP INV.# 132750		
26.	20	EACH	OR AN APPROVED EQUIVALENT	\$5.00	\$100.00
			SHAFT-AUGER, MANUFACTURER		
			HENDERSON PLOW PART # 122462		
	6	EACH	TP INV.# 132752 OR AN APPROVED EQUIVALENT		
27.			OR AN AFFICOVED EQUIVALENI	\$607.00	\$3,642.00
			BUSHING, AUGER, MANUFACTURER		
			HENDERSON PLOW PART # 86177		
28.	10	EACH	TP INV.# 132753	\$34.00	\$340.00
1			OR AN APPROVED EQUIVALENT		

TEM	QUAN.	UNIT OF MEAS.	DESCRIPTION	UNIT PRICE	TOTAL DOLLAR AMOUNT
29.	50	EACH	MOTOR- AUGER, MANUFACTURER HENDERSON PLOW PART # 86176 TP INV.# 132754 OR AN APPROVED EQUIVALENT	\$507.00	\$25,350.00
30.	2	EACH	SHAFT, IDLER,TGS MANUFACTURER HENDERSON PLOW PART # 113927 TP INV.# 132755 OR AN APPROVED EQUIVALENT	\$25.50	\$51.00
31.	24	EACH	BUSHING, ADAPTER, MANUFACTURER HENDERSON PLOW PART # 86173 TP INV.# 132756 OR AN APPROVED EQUIVALENT	\$36.00	\$864.00
32.	20	EACH	BEARING- FLANGE, AUGER MANUFACTURER HENDERSON PLOW PART # 78499 TP INV.# 132757 OR AN APPROVED EQUIVALENT	\$19.00	\$380.00
33.	30	EACH	CYLINDER-ANGLE, MANUFACTURER HENDERSON PLOW PART # 122209 TP INV.# 132758 OR AN APPROVED EQUIVALENT	\$813.00	\$24,390.00
34.	2	EACH	PLATE,BACKING DEFLECTOR MANUFACTURER HENDERSON PLOW PART # 81644 TP INV.# 132731 OR AN APPROVED EQUIVALENT	\$83.00	\$166.00
35.	60	EACH	LIGHT SPINNER, LED MANUFACTURER HENDERSON PLOW PART #1402781 TP INV.# 134157 OR AN APPROVED EQUIVALENT	\$225.00	\$13,500.00
36.	20	EACH	SENSOR BODY LIMIT DUMP TRUCK MANUFACTURER HENDERSON PLOW PART IFM EFECTOR IG 6052 TP INV.# 135458 OR AN APPROVED EQUIVALENT	\$135.00	\$2,700.00
37.	25	EACH	BUSHING ADAPTER-AUGER 1" MANUFACTURER HENDERSON PLOW PART# 84959 TP INV.# 134158 OR AN APPROVED EQUIVALENT	\$475.00	\$11,875.00
38.	10	EACH	END A FRAME MANUFACTURER HENDERSON PLOW PART#123244 TP INV.# 135529 OR AN APPROVED EQUIVALENT	\$39.00	\$390.00

ITEM	QUAN.	UNIT OF MEAS.	DESCRIPTION	UN PR	IIT ICE	TOTAL DOLLAR AMOUNT	
39.	20	EACH	HANGER SPINNER MANUFACTURER HENDERSON PLOW PART#123595.201 TP INV.# 135557 OR AN APPROVED EQUIVALENT	\$58	4.00	\$11,680.00	
40.	10	EACH	ARM LIFT PLOW MANUFACTURER HENDERSON PLOW PART#126030 TP INV.# 133422 OR AN APPROVED EQUIVALENT	\$73	5.50	\$735.00	
41.			HANDLE CASTER MANUFACTURER HENDERSON PLOW PART#87629M TP INV.# 134877 OR AN APPROVED EQUIVALENT	\$33	.00	\$1,320.00	
	40	EACH					
	GRAND TOTAL FOR ITEMS 1 THROUGH 41 = \$						
Discount off Henderson Manufacturers List Price or approve equivalents for miscellaneous Items. The discount given will be applied to all other items purchased by the Authority under this contract. This item does not determine in the award of the bid unless there is a tie among bidders; then the bidder giving the highest discount of those listed in box at right will be awarded contract.Henderson: %Disc042.							